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). By setting z = Re® and z, = pe'®, show that the Cauchy integral formula:
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(b). Show that
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(c). Derive the Poisson summation formula.
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1. Consider the following problem:

Governing equation:
Viu(r,0) =0, R<r<oo, 0<60<2m
Boundary condition:
u(r,0) = g(0), forr=R

Please derive the Poisson formula for exterior domain.
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2. Solve the above exterior problem either analytically or numerically for
the following B.C.

g(0) =£1.0, + for 0<O<m, — for m <0 <2m

where the radius is R = 1.

3. Plot the potential and potential gradient along the three angles 30, 60,
90 degrees from p = 1 to p = 5. Also, plot the normal flux on the
circular boundary.

4. Based on the three point transformation, derive the exact solution:

2 _ 2y
u(z,y) = _tan 1(m)
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